Aritmética de exponentes enteros

Nombre:

(-2 +(-D=
(4 = (6) =
(-2)" = (-4) =
(-2) = (2) =
8 +(-9) =
5 +1=

70 +(-2) =
4-(-9) =
(—4)+3 =

3?+3=

Fecha: Puntuacion:

7+(-1) =
(1 =(5)=
4—(-5) =

2-9=
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N Aritmética de exponentes enteros
Nombre: Fecha: Puntuacion:
(-2’ + (=) = (-9) 1*-2=(-1)

(—4)> — (—6) = 22 -12+1=2

(2> - (—4) =28 (=7)° +2 = (-341)

(-2)* = (-2) = (-6) 9+10= 19

8> +(—9) = 55 (-5)+9=4

52 +1=26 5-8=(-3)

7 +(=2)=(-1) 7T+(-1)=6

4-(9)=13 (-1’ = (-5) =4

(—4)+3=(-1) 4—(-5)=9

P +3=12 2-9=(-7)
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